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��6lSltuoo·/ SCIENCE

( �uSlW LDJDIDJLD qbIBJffilru ru� / Tamil & English Versions) 

a JD IJ" LO : 2½ t.n6l51IT1 ] [ G;h.o rr �� LO� u Q u 6"66f a;Gh- : 75 
 [Maximum Marks: 75 Time Allowed : 2½ Hours ] 

�u6l 6l.16lD IT : (1) � � 6m" �� � 6m"rr $8:i(§ L.D a= rf1 liJ rr a; � a=Sr LJ u � 6)J rr $) @._GfT<ofT � rr 6f 6l5TU ��-6m" 
a=rf1urrrr��$ Qa;rrGh-6fT61.JLD. �a=Sruu��ru @5�!Dt61®u�6M ��!DBi· 
a;oo a; rr 6lITT1 u u rr 6fTrf1 LLD � L6m"l.cJ-LLI rr a; Q � rf16618>8:i G1_j LO. 

(2) · p;ruLO �ruru� 8:i®LJ� �L0��6m" LDL(bVaLD 6r@�ru�JD®LO,
-�l.cJ-8'G8:irrLq-(E\6)J�J!)@)LO uw6b"ru®i� aruoo(E\ili. ULffiJ$GTT 6)J�,IJ"6Ll�JD®
Q u 6irr 61 ru u liJ 6irru (6)��6l.J LO.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of 

Note: 

Note: 

fairness, inform the Hall Supervisor immediately. 
(2) Use Black or Blue ink to write and underline and pencil to draw diagr�lllS.

This question paper contains three sections. 

t.51rr16l.l- I / SECTION - I

(LD�uGlu6"66f8:i<oTT: 15) / (Marks : 15)

15x1=15. 

(ii) � � Lu � 8' ® p5) uEl ®J GTT Q a; rr ® 8' a; u u L ® GTT 6fT LD rr JD ID! � � L8:i 6ff1 ru
uSl8:i61.JLO a=rrlwrrrn @5l6ll)L�liJ� a�rrJbG�(E\�� 6f@�6l.JLO

(i) Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.
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2. 

2 

@tu !!)66)8:i� cgjD ITQ.J lE a8:i rrLU rn_:_66) L Q ru GTTl � LLGLI IT ----
( 5frlTQ)l@U Lrrrr@S16bl, �!JsbGtGrr-l!9..-@5lrf11@U, ffilrHa;rrG�rrffi6b1 GLDOOLQ), �@T Urfl.J66)LGn) 
ru LD rr fr a; ) 
The theory of Natural Selection was proposed by 
(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baptise Lamark) 

( �Gru (]ru, LD Gru rf1 G LU , w rrru 51 u rrir LD. 66) ru @.m cE Giu) 
The most serious form of malaria is ca1.,1.sed by Plasmodium  . 
(ovale, malariae, falciparum, vivax) 

3. ffi<_l:g�� u u @5� ug) GD a; rrerort.:.1 u (bh.o . �® .ill rrrou51 ruQm B= Sr iru tSl ____
( � LIT675Tru Srl)"ut.Sl, LS1 L�LLlflB= c1r1;u Lg, 66)�1J"rTlLl{B BrlJ"U �. ffi66)6mrrlLJLD)
An endocrine gland found in the neck is
(adrenal gland, pituitary gland, thyroid gland, pancreas)

I 

4. kba;®LD �rr6l..ll)"f6.Jc!E61f16N urrGDl6<TTu Que:5A;c13 (.!P66),(!)t6lru J!)66)LGuwLD @�ru .m)a;�6l.l

(Bl®Gl.lWJ�GU, (Y)66)G1T��6U, L.Odcrr(Bltb 2-@6lJrr�ru. DffilJ"JB�� (g5Ji-a;6ma;) 
In sexual reproduction of flowering plants, the first event involved in this is 
(fertilization, germination, regeneration, pollination) 

5. u fT@)Jf LLq-ffiml �1) ---- G JD rrLLJ Gr �l rn.J Lj B= 58:i� 66) lLI � ml a;ffi)_!D�.
(@row �IJ"�:;5 §1GL1uLj �®Ja;Blm, @ir�� G16lJW66)ffiLLJ@218JBJITT, @ir�� �L{B
�W]8'�ITT, @�rr Ii}rJ�{f> 51LJU@)J$8JW)
Which blood cells of mammals are concerned with immunity?
(Young Eiythrocytes, Leucocytes, Thrombocytes, Matured Erythrocytes)

6. f-HiYU Lq-6m a; rr!i) p5) Q) Q) rr 5 8r6l..l IT 5�fbl 615Hf Q) �6mIT"Lrf 6l..l � -�--
( 61.Hr 851.q-cE � L.61 ru t.b, 66) u ®@S'lcs; � u5k,u LO, Gr �{f,6m"ff ru, � M Lq-8J � L.61° ru t.b)
The product obtained in the anaerobic respiration of yeast is
(Lactic acid, Pyruvic acid_. Ethanol, Acetic acid)

7. u Lq-LD 6nf1 Q u rT(i:!) �ffi@ <orffii�� a;<9; rrL@ ___ _
(�rru511)"LO; .@(�LDLJ, LD856ul51UJLD, �rus;a;rfl)
An example for fossil fuel is
(.:::opper, iron, magnesium, coal)
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8. � ifl 6l5TrrQ) u If 61.! LO a JB rrw A;® 61""@ �� A;a; rrL@ �®a; ___ _
( Qa: rr!]51 .il (JffiJ ©, cfil � lLJ ff Lj@ cg JD rni.J , u rrrr 66) 6)_J A; (§GID !D u rr (b) , Q5) LU u rrw (11 )
An example of water-borne disease is ___ _
(scabies, dracunculiasis, trachoma, typhoid)

9. � GID rr A; a; GID rr u u rr 6l5T rr a; A; Q 8:i rr oo L 8:i GID IJ cf Q) � IT A; a; GID rr cf Q) qb@) LD . a; rr IT u 6lIT GID L
8=6\)66) u 66) Lffi 8:i 66) !JU u rr6l5Trr 8:iffi G8:i rrooL 8:iGID IJ a=ru ---- qh@) LI).

(�rr8lc£6l5>1f a=Q:>, �IJ!D!D 8:iQ))IJ a=Q))
A solution that contains water as the solvent is called an aqueous solution. If carbon
disulphide is a solvent in a given solution, then the solution is called ___ _
(aqueous solution, non-aqueous solution)

10. u fb 61615> fl, GID ru � � @8l 8:i JD rr LD JD rr (§ LO u ru � 6U A; a; G Q.J oo (11 LO , JD LO LO rr ru
UlU6mU{b'�fJ,UU@LD ufbu6"lf)a= ____ �6m"GIDLO Qs.;rniorL�.
( � uSlruLO, a;rrifLb)
To protect tooth decay, we are advised to brush our teeth regularly. The nature of the
tooth paste commonly used is ____ in nature.
( acidic, basic)

11. ey:> 6lrr!!) rf Q..I � ru ifl 615) a=L61 ru �� LO riJ a; GIT �GIT GIT 6l5T � ru d) p5l Q:> 61"" � � 66) 6l5T � a 6U rr a; riiJ ffi GIT
�GITGTT 6l5T ?

· (8, 5)
The third period contains elements. Out of these elements, how many elements are
non-metals?
(8, 5)

12. Li$ L.61 Gm\w LIT Lj Q)Q) ifl 6lIT ---- 6m LJ JD Gru !I) WJ 615> LO 6U Lq-6U LO.
( GIDJBLIJ�6lrr, 8lrflTU6lIT, a=rua°oU rr)
Buckminister fullerene is the allotropic form· of ___ _
(Nitrogen, Carbon, Sulphur)

13. LJ GE) u IJU � ru 50 $l. $l. � 66) JD� 61TGIT L06m'l �6nrl GnT 61""66) L ---­

(50 N, 35 N, 380 N, 490 N)
The weight of a person is 50 kg. The weight of that person on the surface of the earth
will be ___ _
(50 N, 35 N, 380 N, 490 N)

14. · €J�� � Upj�66)6l5Ta;<orrlru �roGITGurr� ____ urru LI LO!!)JD UIJULJffiQ))GTT 6El L
��a; Qruuu�Qf)� �La;rurr$l,m�.
( Q 6)J 6lrnT 615) LO, Q a= rrrrQ a=rrrr LJ u rr 6oT I c£®66) LO, LO(§ a=ro) 
____ surface absorbs more heat than any other surface under identical conditions. 
(White, Rough, Black, Yellow) 
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6189 4
15. �1Juurr1r6lDru @)6lD.(I)UrrL6lDL a=rf1 Qa=u'.JLU  uLU6irru®cf;1!D�-

(®� QQ)61)T6fl), ®� QQ)61IT6f0, ®� qbl.c}-, ®� qbl.c}-)
The defect of hypermetropia can be corrected by using a  
(concave lens, convex lens, convex mirror, concave mirror)

L5lrrl�- II / SECTION - II
(LO�uGu6lmr8.iGIT: 40) / (Marks : 4�)

®!J5l p4 : 6J��WJ lD �@LI� � 6?rrrr 4;8.i ®8J@> @S16lD LLU 6ff18J8.i6l._J LO.
Note· : Answer any twenty questions.

20x2=40 

16. 8.iL��c$8in_lq-LU u�y8.i@ �LO M!i)n5)6?IT��!D®GTT®LO, cgurf)6?IT��!D@>ffi®L0 LOrrwu®LO.
£ �8>8.i rr@I LO u �Y8.i 6TT 6f ��6ll)8.i u_j LO rrw u rr® 8.i GlT Q 8j rr �® GlT 61T 6?IT GT 6?IT c$ ® !]5l LJ � ® 8.i.

II

(i) LOfolITl�c9, 8.i6mff6lrnfl6irr �.(!)LO J]Q)LO, 8.i.IDJUY, LJ56ll)6, U@LJY GT6?IT 
LO rr IDJ u (1) cf;) .(I)� . @ 6i.t ru 6lD 8.i LO rr w u rr ® __ GT 6?IT u u (1) LO .

(ii) QP UJ ru, UJ rr6lD 6?IT cg u rr6irr.(D ru !D p51 GU 8.i rr6imru u (1) LO u 6i) � 6lD LD u y 
LO rrw u L® 61T61T �. @6i.t QJ 6ll)8.i LO rrw u rr(b)8.i@ ---- GT6?ITI.J u (1) LO.

The inheritable characters vary in different species and within the same specie�. Name
the variation in the following cases. 
The eye colour among the human beings are varied as blue, black, green, brown etc ... ,
(i) This is called as _  variation. 
The dentition in the rabbit and the elephant are not the same.
(ii) This is called as  'variation.
I , 

17. I LI rn:nii LI rrl UJ L1l acirlT)ii/!i il'l m (Yl.$.$1 UJ Q ac If jD@j J6l l.J LJ -9; ITT £ C: !J) Q -9; ir@ ,$.9; L) LI L__(bl mro m.
i � 6)J !D w 6TT �rf) UJ 6?ITQJ !D 6ll) .(I) cg� 1rJbG�®�� GT@� 8.i.
I ( � Q)Q) Q), LO rrw u rr® 8.i 6TT' 51 !D p516?ITLO rr � Q), �6irr, � Q) Q)I cgQ) rrLD rf ITO 

O 
O y 8.i@)

(i) ____ 8.i rrir 6l5l5fl 8.i m @LU !b i5I LU ru a= rr�Jb� u rrlJ LO u rf) LU c9> 8.i rrlJ 6l5lITl 8.iGTT �®LO.
i(ii) ---- GT61ITU� �cg IJ �6l!T) 6bT LO rr!b w� � 6bT 6l5) LO LU rr ®LO.  

I ' ' ' I • •  
!Here are certain important hereditary jargons. Fill in the blank� by ch,oos.ing ·a suitable1one from the list given. 
!(allele, variation, speciation, gene, allelomorphs) 1(i) _  are the factors which form the physical basis of inheritance.
i(ii)  is the alternate forms of the same gene.
'1 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


5 

18. ��LD6lrr1t£6irr (Yl�6U t£d>$rrQ) LD�t£6m" 6U6IDIJ Q$rr{b)8'$LJ UL...L LD�t£ c@6m"ffiJ$6ID61T
6U ifl 66)5 LJ U G) �t!> 6tj U).

(�lUrr6!ITTLITt£6U LD�t£6m", a�rraLDrrGl�L.SlaSlGiu, a�rraLDrr GTIJ$LGru, a�rraLDrr
QB= LSl lU 6irr)

?equentially arrange the different species of man from primitive to mo1ern man. 

(Neanderthal man, Homo habilis, Homo erectus, Homo sapiens) 

Name the tests done for the diagnosis and confirmation of HIV. 

20. $@GIT61T UL�6?5)t!> 6U6IDIJ!fi� Q$rr{b)$$LJUL{b)GIT61T6Ud}!}51ru c@I�® Urr$r&J$6ID61T$
® !61 ffi$6tj

'.l

U) 

Copy the diagram and label any two parts in the group given. 

(cyton, axon,  dendron, terminal branches) 

6180 
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6 

( � ) u LLD A LO !D IDJ LO B 6o> UJ � 6o> LUJ rrroLD ffi rr 6l5lIT ffi. 

A 

(a) Identify Fig. A and B.

(b) vVhich part of A is modified into B?

A B 

22. u rr �Llq-ffi <orfl 6D ffi rr 6mff LJ u ® LO u 6D � 6o> LO u LJ UJ rr � ? UJ rr 6o> 6cITL61 €<IT � J5� LO <or f561>1
LO fTIDJ U rr® ?

What type of dentition is seen in mammals? What are elephant tusks? 
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23. �LGU1@ "LDrrooLrr Glm.61GYUL " GT@g)J #1.IDJJ]r,ra;LD �Go.ik9a;a;uu(Bia.;l!!)� - a;rrr,r61rnl"LD
SiOOLpS)fe� 6f@�Si.
(�) �LGU1@ Gu!!)UU@ill �66)6oT�� Gru�u Qurr@GTTcE(§LO �IDJJ£1Jc6��lru

Q u !D LJ u ® a.;) @!!) 6oT.

( �) 51WJJ]IJ"Siill �IJ"���fElerr cgru�L616o>UJ� a=LD�61DGD6IDUJu GuWJltl!D�-
{ i) $1 IDJ}] IJ" Si LO , � L G15l ru Q u IDJ ill � 8n 6oT � � cg ru � u Q u rr ®ma; 6o> m u .. p.b

Q ru Gtfl cg UJ !DWI £1 !D �
( r-i:) 5lIDJJ]IJ"$LO, �1_661@ �66)6oT�� cg6).J�LJ Gurrc�6TTSi6IDGITt.yLD Ga=uSl�@ 615)6)__1��$

GBJrrGTT£lJD�.
The Master Chemists of our body are the kidneys. Justify.
(a) Kidney� filter all chemicals in the body.
(b) Kidneys maintain the chemical composition of blood. 
(c) Kidneys eliminate all chemicals absorbed by the body.
( d) Kidneys sto�e the chemicals accumulated in the body.

24. i'l�?D��@ l.S)mrrGru1.nrr U@)�wlru s;rr6muu(Blw �lmrrGit)wrr yCEr,rrrLt.e.6�rn;ro
e!P m!!5) 6o) 6of.8j 8in.IDJ a;. � 6)J w JDI Gof u � a; 6o) GTTI.LJ LO ® ,o51 u � ® c5.

Name the tlu-ee important blood proteins seen in plasma. Add a note on their functions.

25. B=IT$$6o)IJ"c$ ,9;615)1]"8=61) qb6D8J�ffQ)ffSi LDf!I)!]LD6IDLffil,!I)�
( �) <1LDJI)$00L Gla=UJGU1GD 6T�fD6o),9;lLJ �a;�a=� �8nLGUIDJffil,!I)�
( �) 6Tpj� @615lff@�rfl r-r-(b)u(blffil,QJ� ?
Sugar is converted into alcohol. In the above reaction what kind of process takes
place ? Which micro-organism is involved ?

26. LO��� 61IT 8rGl..l ff 5<S a; ff£!) JD ff 6oT� ____ @J � lLJ ff a; ____ c%@5ffi Qa=rutfil ,QJ§j.
LD 61IT a;Gtf) Q) J] IJff 6oT � ---- @J � lLJ rr 8j. � L@tl a; 05 GIT Q a= (@TIDJ � rfl Q} a; G"6) 1nb� GfTITT

�<9;oo)�6b-r $@)GTT UIJ"@..jffil!I)�.
In human beings, air enters into the body throu$h _ _  and moves into

In fishes, water enters into the body through  and the dissolved oxygen 
diffuses into 

27. GlfbrrL.Lrrru 5lWJrfutfil� fDrrGl..llJ�f£16i) Gl1J3 rr(b'L.0Gurr� 6J£DU(bh.o LDrrfbJD���6ITT
6lS) GIT c3J @)ffi
Describe the change that occurs in a touch-me-not plant when it is touched.

6180 
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L5l � 6U ® LD LI�� 6m UJ u LI LcJ-� � ffJ ® [D ff) @S1 6m'L 6m UJ t1E 8:i oo L f]5l Jb � G 8:i rr lcJ- L·L;-
@ Lr&J 8j6'6) 6TT � lJ u LI 8:i. 

( � ffiJ ® .. @Sl 6ID 6TT � U LJ � , 8:i 60T 2-(] 6D rr 8:i ffiJ 8:i 6TT � 8:i rr rr LJ � -6ID L - � i$ 6ID GlU @, 8:i [D ff) 85
�f8J ro 8:i 6TT) 

u rr � �8=LO, lLJ C r,r 6bfl UJ LO, GffJ rrrfl UJ LO, . � Ii-8=6bfl t1E ____ ffi6U JfiffJ 8:i6U 6ID Gu u51601 ®JB�
. Q,ruGTf.lGUJtD!!JLiu@LD 8:ikP1�u Qurr�L8:i.6TT L06ml�®J8j® · · LDL@u5l�f]5l 
®W � 6IDro 6ID lLIU-J LO: u rr �t1E851 �!D �. J£l 6Ut1EB.i rfl u51 ro  2-ffim �-�� � u5l 6U L06ID W
2-@ 6)J rr 8:i 8.i rr r,r � LO rr 6)J (g ffJ rr Cb) Lb L. Cb) LO 60 6U rrLD Q) LJ 8i-6ID LO lLI rr 8.i @J ff lLj ___ _ 

 Q ru 6lfl�l1..f!i) !!) u LiL{bl $ rrru� 6ITTru D rrWJ u [!LlcJ-,[) ®LO LI 6)jl · Q 6)J u,�-?, LO rrw ff)@)] t1E(!!)t1E
. <Srrr,r6@f�JTtfilJb�. 

Fill>ir' th.e blanks with suitable answers, from those given in the bracfets. 
t • � •- , a, A • -•- •••• ! > ' • • • •. ◄ , •  _.  •r 

� \-, Q:urr��i ,heavy m��als, carbon dioxi1e, sulphur p�rti�le�) , , 
Generation pf waste produ�ts which contajn M.e�cury;, U�finium, Thorium, Arsenic,
and other __  are 

. 
to human health and envirorunent. ___ _

present in the coal will ·cause acid rairi and the rele�se of  . �·, a green - house
: ga�, causes climate change and global warming. · ·· 
I \ , 

I ,, , .... -�. · i ' J • � ! \ -  ] J. I i I :  
L rJ 

29 Gurr®JbffJff6IDffJ i�@:j�': · · , ' 

( �) 2-u51 rfr
r

- �6\)8:i�)!Dff�, _U56m8= �5'6U, g!�---u51 rfl:.. FFffJfr, Qb L.Gr,rrrGt5ltu LO

( �) ffiff�f,ftr; 6ITTL/oLJJllLI@, · G8=r!!51§1�JT6)@), lffJGU�

Find the odd one out : 
;,  ; I 

(a) . . .bio::akohol, green µies�l, Jio-ethers, _p_et:roleu�. 
; 

(b) '. _  '¢hb1�.r�, typJ,;9id, scabies, : dysentery. ·· · 

i 
- .  -··" . 

3ol �m!D6m6Ud'.  G8=u5lt1E8:i 2-�-� LO 8=rr�6]5Tr&J 8:i6ID6TT�,- � �6).J Q96l.160T6).Jfil!!51601 ®Ji>�

I 

ail>iiJi; Q :2> 0 8is;Gl.j LI) - •• -

1 ( ��®t.b �60LJB.i6TT, ffJrruSlr,r LJ?l� �6IDL, ®rflUJ i-rr' (§_GL,d)p5l, uSl� i� (§GL,d)f]5l,
Lr&J 6m L�T @S16TT cS@j8.i6TT, u5l 6m"6ITT@l  uSl 6nT � 6ID L) 

Pick out the appliances that can conserve electric energy. 

(Fluorescent bulbs, copper choke, solar water heater, electric water hea�er, tungsten 
bulbs, electronic choke.) 
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31. LDITp5ilLJroGIT �@iliuu Q-u!D ·.@UJWLO, �®iliuu Qu!D .@UJrurr� ruGTTIBJB;6IDQT
. @6l5>�UJIT8JU Qurr@��dl.

6U GIT ffi.l B;61T A B C 

�®LO�U Quwili 6UGITffi.18iGTf 8>rf1 e; ff JDIDJ Qu Ld&rr� � t.b 

�(§LDUU Qu!D .@wrurr�
m�Llj�6lrr _@UJ !I) 6'15) 8J 6)J ITLLj (§rf1UJ �QT) ·cqb!r)!J)Q> 

6U Glf ffi.l 8J61T 

Match the suitable renewable and non-tenewable sources. 

Sources A B C "

Renewable Coal Wirtd. Petroleum 
Non-Renewable Hydrogen Natural gas Solar energy 

-32. 25°C QruuuJB1mrut61ru Q�G61LLq-UJ cb6l5>1J"B=Wc9J(§L.0, Q��LLIT� 8i6l5>1B=WB�I.O �QT61T
aruwurr@dl��c9j £�a; G8itr@858JUUL(b\61TGTT C§!D!Uydlro e_y)Q)L.0 6f@�8i.' 
-(i) 1?�.£l NaCl 100 £l. JBrflru (ii) 36 $1 NaCl 100 c$) JBrflru
((§.(i)IULj : Nad @6?il dl6mlJ.�!J)6?5T 3_6 £l)  . _ 
Distinguish betwe·en the saturated and unsaturated solution at a temperature of 25°C 
using the data given below. (Note: Solubility of Naq is 36 g) 
(i) 16 g NaCl in 100 g water. (ii) 36 g NaCl in 100 g water.

33. L_j)6irfQJ(!9QJ6<ITQJ!!)IDJ61T �rf1615>cS Jfi16IDQ)6IDLO L5\rfl615>8J �Ldl�615>ffej ��Lp5}8> :
( �) UITGlHr6'6>L8idlL.Lq- ( �) (]s=rrLrrJirr ' -

I 

Give the dispersed phase and dispersion medium in each of the following :
(a) Cheese (b) Soda water

34. t.j)6ITTQJ(!9LD �LLQJ615)@mf615)UJ �IJ"LILJ8i.:

ffej6m1 LDLD �®J J:5'6l5>!D 

(§ Grornf) 6irr 35.5 

�a5rr,6ITT 
'

5ruu1r 32 

CompleteJhe table given below 
ii' . ' 

ELEMENT ATOMIC MASS 
Chlorine 35.5 
Ozone· 

Sulphur 32 

ey:>6U858aIDJ JBl 615>JI) 
71 

48 

MOLECULAR MASS 
71 
48 

�@llc$8iL@GT�

3 

8 

ATOMICI.TY 

3 

8 

, 

6iso
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35. @®LDLI �6mi6mW �rn.6lr,r 560GLJL cE6mr,r561Sl®J6TT 6m6lJffi@jL.D(]u1T� �1Tu5lr,r 5ro(]uc__
6J6M ffe,mLD LDITJJ)Jl£1,m� ? �--'TiJ8.i6TT LJ�@tlffiBJIT60T 6lSlroa5cE�6m�� �r,r�LD.

37. 

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justify
your answer.

7.4 

8.2
2.5 

12 

I 

I� LLru oo=oo llJ LI u @)l.J u rrlLI 6l.J Q.sclLJ� £G !J) @._ffi°6fT 
l@Sl 66) L llJ 6ltl .$$ 6l.j Ul . 
I(�) Gr/i,Gl/li/i,/lil.J Qurr@ITT1£ITT �u5lru� !li6m°ooLD i11.._00L11JOOGU ? 
(�) GTJ!)G�J!)�U GlLJIT@6TT8.i6TT 8.ilTr,r� �6M6mlD 22.....6mL W6m6lJ ?

The pH values of certain familiar substances are give n below:

Substance pH value
Blood 7.4 

Baking Soda 8.2
Vinegar 2.5 

Household Ammonia 12 

�nalyse the data in the table and answer the following questions.
la) Which substances are acidic in nature?
(b) - Which substances are basic in nature?

I . , "' ... l'.l • • • "' • 6600 o6mLJ\.9, �IT�6m6l.l �LITLJ1..:11ffiffiLJ LJW6ITTLJ\.9,LD (!p6m,(!) _

t .!916ID i;r u5l /1i LI LJ (!Jl6ID !D / LJ 6lSl U) ITU LJ (!Jl6ID !D) 
I 

� ·process employed for the concentration of sulphide ore is ____
1 froth floatation/ gravity separation)
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38. 6fjfi� �arurrl£LO urr�l)"5��L6m" a51Tjfi�rf@)JLD ��!!)@5 �1)"5$$6\)66)6).J 6f6MIDJ QuLLJrr.
lJ!D@5w1$6o)GlT �6o)LLJLJ�!D�I.J LJLLJ6ITTLJ@LD �1)"5$$6\)66)6).J
(Ag-Sn @IJ"58'l£ru6o)6LI /Cu-Sn @IJ"58'8Jru6o)6LI)
Any metal mixeci with mercury is called an amalgam. The amalgam used for dental
filling is  (Ag-Sn amalgam/Cu-Sn amalgam)

3 9. 6o) 6LI IJ" LO l£ rr rr u @J 6o> L LU � !D cg 6LI 0 IDl 6o> LD ru lq-(@J ffi.l 8J (§ ITT � 6irr !D rr@LD . � � 6irr l£ Lq-6lrr � 
�@r 6o) LD8'8J IT 6lIT $ ITI)" 66liT � 6o>�8' Sin.ID]$. 
Diamond is the hardest allotrope of carbon. Give reason for its hardness. 

40. @L(@)cnwl� �®LI�� �!!)6o)6lrr __  ®JD1ug)@)JLD 6Llru(@)Br�� �®Ll���!J)6o)6lrr
 ®n5Jug)WLD ®n5lu�@ru� LDIJ"�-

As a matter of convention, an anticlockwise moment is taken as - and  a
clockwise moment is taken as _  

41. 1 $1.$\. ffe6o>!DlLJITTGTT �® Qurr@ITT 20 LD �LUIJ"��6D �®�� �1:9if Qa=Li.JLUuu@$1!D�­
�6o>IJ"6o>6o>LLJ ru��6o>L���LD �cg� Gru8J��6D GLDGru@$\!D�- �Jfi� LDrrIDJUITL66>L8'
8Jrr6!5lrrl£. (g=lO LD/�- 2 6f6irr8J.)
An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum. (Take g=lO ms-2)

42. Qc9;rr@8'l£L..1LJL@GITG1T qb!D!!)6D {Y)Q)ffi.18JGTT16D Qurr@��rr� �6irr6o>.(D8' c9;�(b)� lq-8'l£.

( � 6lIT Q) u5l 6irr qb!D !D Q), (§ rf) LU qbp) !D Q), i IT u5l 6irr qb !D !D Q), �u5) rf) qb!!) !D 6\))
In the list of sources of energy given below, find out the odd one.
(thermal energy, solar energy, hydroelecb·ic power, biomass)

6180 

43. � 6o> Lu � 8' @3 n5l 8' @3 GIT Q l£ rr@8' 8J u u L@ GIT m Q a= rr !D l£ GTTl 6D � rf1 LU 6m ru !D 6lD !12 � ' ·
G�frJfiG�®-�� �6m"6Ll@LD �LL6Ll6o>66lif6o)LU ffei;ru�$.
(���JfirTlhLD, �rru5l IJ"LD, 8Jrrrru6irr, lhrrrTLULD, lhrrrTLU qb8'6o>GlU@, �@).] t.6h,!IT1LU 1..9)

G � rru5l 6Mru rrli.J $rfrTW �uSlru cg5LD8'8JQ)6ITT 

6f � rru5l 6irr 6ll rrli.J Q �1)8; Q) rf@)cFl u5l 6irr 8jQ) 6m" 

Complete the table choosing the right terms from within the brackets. 
(zinc, copper, carbon, lead, lead oxide, aluminium) 

+ ve electrode Lead acid accumulator
- ve electrode Lechlanche cell

[ �®LJ �$ / Turn over 
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45. 
I 

12 

Write about ocean thermal energy. 

�@ GiT 6lT LI L� � ru 6f fe � 8> a; rr fe �  rurr 51 a; rr fe � u � GU�� 6irr � 6l5> 8: 6l5> LU d> 5 tf1 LU rr a; 8>
8.iITL@�!D�. 
Which of the compass needle orientations in the following diagram correctly describes 
the magnef s field at the point ? 

B 

C 
ft \

 ,sl
@

, I  

�®6).JIT �6(>l 8J008J61TITQ) 12 LDLLQ!)d>@) �{L.JLJITQ) �GTT61T �'LllT(§GTTdl-enro� Gl�Grrlrurra;d; 
8J rr 6m" @ L9-UJ 661 ru 6l5> GU : . � ru ® 6l5> L UJ . ® 6l5> !D u rr L u:i-6i5) 6ITT LY ili '. ' · � �-� 6ITT 5 . 5 tf1 
Q 5Li.J ru � !D 8.i rr 6?rr Q GU 6<>l <oml 6l5> 6?rr LY t.b 8in.IDJ a; · 
A person cannot clearly see objects farther than 12 m from the eye. Name d�e defect in 
vision he issuffer�g from and the lens that should be used-. to correct this, defect. 

Q UIT(.!!)��Bi

( �) � L...LL.J LI ITIT6l5>QJ 

(qi,) @llJl� U rff 6l5) 6)J 

_, �1 

(i) ®@Sl ,GGU6m6ru ' , 

(ii) ffem @J 6l5)6TTUJ qb t.q-8>Gi"r ·:

(�) @Sl� 6,f!I)U6l5>L6i.j� �!!)6m @)6l5>!J)Urr@ (iii) ��QQ)6m6ru 

( r-r-) �u�ru ru rr6m Q�rr6l5>GU(gp:>rr8JcS1 
Match the following 

(a) Myopia

(b) Hypermetropia

(c) Presbyopia

( d) Hubble space telescope

(iv)

(i) 

(ii) 

(iii) 
(iv) 

@® @) 661 UJ d> 8.i oo 6imfWl9-

Convex lens 

Hyperbolic mirrors 

Concave lens 

Bi-focal lens 

. 1 

l ,. 
J- ', 

_; 

T 
i 

j 
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i.5lrflQ.j- III / SECTION -. III 

(LD�h.:JCJuooa:;m : 20) / (Marks : 20)

®!J5lu4 (i) �ruQ_�rr® U®�l61661@Ji>�LD �® 6£16?ITrr 6))�L.0 ,ffiIT6lfl® 6>S)@]"frffi8:i�8>(§ 

6>S)6"6)1..,_w61t)a;a:;6l.jL.0. 4x5=20 

(ii) afli6<5) 6)_J lU rr 6iff .@Lriil a:;6ff16l) LILLO 6)_J 66) IJ $. 

Note: (i) 

(ii) 

Answ�/ any four q�esfions by choosing one questiori from each part 
Draw Diagrams wli.ereve� necessary.' 

u®� - I / Part - I
48. d>6Urr �6irruru rr· ®WJfi6<5)� Q U.(I)IDJffiGrrnrr.

( � ) L.S) !D Jfi � @> W Jfi � � $@) @ � 6U �IDJ LO rr � ffi.J 8:i � 8'@) 6TT 6tJ � ffiJ 8:i (g 6tJ 00 Lq-W
 (gJ]5rT_ll.l��{b)U!d>§J �L...L6tJ6"6)6mif6"6)lU fof@�B:i.

( �) @��®u!d>Ma:;m {Y)ruLO ��G�Ji>� GJ15rrlU8:i6"6)61T� �®��L @w@IJLO.
Kala has delivered a baby.
(a) Sugges� the ipmunization schedule for the baby, in theJirst six mon:ths:
(b) What �!e he diseasesthatcan be cured as per the schedul� ? 

49 .  £aw G8>rr�t9>$LJ�WL(B\6IT61T, Qc9=rr.(!)8>6lDGTT  -615)��� · u��6<5)W  !d/r��L :Qcfll.Jd> . 
( L06Nff 6"6) L (g UJ IT@, @6TTG 61T � LO Lj � Q � rrLIT, 66) U lU rra LO LLIT; � (J8J16ITT"frW (B\ il.._66) fl), 
(Y)6<5)61T. fDOO@ ru LLD. (Y) 66) m �66) !Dd>6fT. 1.q-� 1Jrr a LO L...Lrr) 

66) LO w J]5 IJ LO LI LO �L ru � 66) � '5 ar .ID !DI � m ro ep 6t>1 ID.I u rr@ 8> rr u LI � �w $,G1T

� Lffii Q LO rr �� LO rr d> �--� �6irrIDJ � 66) Wa;d> u u (B\ c£16t>T!!) oo. - LO ,ID ID.I LO, 
---- a;@) � Lq-� 6i) � 66) LDJfi � 6TT 61T· Q 6}J 6fTl LJ Lj !D .@ IL...66) L$ $ Lq-6nr �66)".(!) . 
---- �Gm"IDJ �6<5)W8Jc$LJU(B\$1!D�- G1LOru60lw�LD • .@IJ�� J]5rf61TffiJ$60)61TLJ' 
Q U ,ID!!)� LO rr@r JD (£Y � 615) !!)ffi@) ----� 67ff IDJ Q u w fr. e!;P 66) 61T � ll,111.p.o 
fDOO{b)6llL�6<5)flilLjLD ·�w!J51 GpjQ9$8>LOrT$ �6"6)L.0Jfi�GTTGTT �L.Lj!!) GL06bbl5lw  �6m!!)ffi(§

 6P�IDJ Quwrr. ·, 
Use words from the given ·list to complete the following·  paragraph. 
(Skull, Vertebral column,. Piamater, Arachnoid membrane, Brain, Spinal cord, Meninges, 
Duramater) · 
The central nervous system is covei-ed by three protective coverings collectively called 

 . J:he outermost cover lying below the  and  is 
double thick and is called ·  . The middle covering is thin a�d vascitlarised 
and is called  . The innermost cover is a very thin delicate membrane and is 

. closely stretched over the outer surface of brain and spinal cord is c�lled 

[ �Q!jUqd> / Turn over 
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LI@jj - II/ Part - II 
50. LD8>rJ�fb6 (g5(ra;6l5)8,u5)@T 6l.J6l5)8>8>61T UJfT6l5)6l.J? ��fb 6l.J6l5)8> W8>1)"��6 (g5(ra;6l5)8, }]6m"6l5)11)

I tsrr B58in.Lq.-UJ� ? �6ITT ? 
What are the types of pollination ? Which among them is more advantageous ?Why? 

511./1 
• , 

8> rr16l5) UJ 1onfhJ u � toITTrr Q) �!D u (bh.o i 6l5) LD u LU a; @5 LO Q a= LU Q) a; 6l5) <off LI LI'Llq--LU � ® 8>.
L�t out the harmful effects of burning coal.

LI(§� - III / Part - III 
s ri. iS1 �ru ® Lb � ®J 858,Gtfl 6ir a LO rrQ) � �6<ITT18J6l5)8,6l5) � a; 8, 6lR)T c£ffil ® 8, =1:

I (�} 2 ffi1. 6l5)JDLIJ"�6m" 
I ( cqb) 23 ffi1 . a6 rr Lq.-UJ LI) ,
I· (@) 40 cE1. 8, rrQ)61 llJ LI)

(FF) 1.4 ffi1. ��fb!UJLD
( �) 32 ffi1. B=Q)Urr 
Find how many moles of atoms are there in :
(a) 2 g of nirrogen
(b) 23 g of sodium 
(c) 40 g of calcium
(d) 1.4 g of lithium
(e) 32 g of sulphur

. '

Q 8> rrffi\ a;d; LI u L@ m <oIT � LL6l.J 6l5) 6!5m"u51 Q) (]8> rrtq.-LL @Lffil ffi 6l5) <orT � � ®J:h� (Y) m cE8in.IDJ
6lJ [TlLJ LJ u rTLL[TQ) Jfil lJ"LI u� LD :

QJ.6f6mIT. � Q) (ga;6irr �Q)$6N s:§-1 Q) 6o) ,9;6N 1 C2H6 r-r-�(g�6N r-r-�i6N C2H2 r-T-�6o)�6?rr 
2 �(gry-rru(gu6N C3£¼ �cgo-rruL1oo ���[fl.J6o)LJ6N 
3 C4H10 L5l�L.(gL6?IT L51!:kbL�ar L5) \:_Q, L6o) L6?IT 

-, 
)- ( Fill in the blanks in the given table using. suitable formulae
\- l 

,· 

SI.No. Alkane Alkene Alkyite 

1 C2H6 ethane ethene C2H2 ethyne :, 
2 propane Cl¾ propene propyne 

3 C4H10 Butane • Butene Butyne 
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LI(§� - IV/ Part - IV 
54. ( �) �ooGlru61f1 6})1Jff $61T ��QQJGTT) �6l5)GUlLJIBJ$601Q) ��L J:6rT61T �ffi.1@)6)J�rfQ)

L.D6lrrl� �Lrol Q) G;J"!D u Gh.o � 6l5) GIT� $6l5) GIT qb r;-rni.J 6)J � !!)Bl rr dlaru rr, @S) 6in"TQ 6)J GTfl 
� 6l5) GU lLJ f6.I $6IT LI lLJ 6ITTU (Bi�� u u (Bi$) 6m.(D 6nT. @ $8in.!r) f1)16m 6nT ffe lU rTlLI LI u (Bi�� a;.

(�) F=G m
1
m

2
/d2 GT6ITTU� Jfil�LL6ol16U r-r-rru�lLJQ) @S)�t6"\6irr dl6ol>Tl� Gtllq-6).JLO. 

G- r-r-fru iS1 lLJ 6U LO rrp5! 6151 � m1, m2 6f 6l)"TLJ� ,Jfil 6l5) p)Blffi. d Q u rT®GTT Bl�B>@)
@ 6l5) Luu LL Q � rr 6l5) GU� 6T" 6l5Tl 6U · Jfil � LL� 6l)"T r-r-rru L.S1 lLI 6U @S1�u.s16lD 6nT B> &.J!)I a;.

(a) 'Space stations are used to study the effects of long-space flight on the human
body'. Justify.

6180 

(b) F = G m1m
2

/ d2 is the mathematical form of Newton's law of gravitation,·,
G-gravitational constant, m1, m

2 
are the masses of two bodies separated- by a

distance d, then give the statement of Newton's law of gravitation.

55. 

( �) aLOaro� �rom uL�6l5)� LO�ffiiLD 6U6l5)1J$.
(�)@uusLO @j!)5lu�@ru� ___ 
C@) UL��)-Q) (Y)B;a;llULOrT6m UrTdlffiJ$6l5)GTTB; (§!}5)8:idl�LD. 
( r-r-) @B>a;®@S) 6T����QJ��6m" �k}-LJLJ66)L�Q) Q5lLJQ)U(b)$).(D�. 
(a) Redraw the diagram.
(b) This diagram represents ---­
( c) Label the parts of the diagram.
( d) Mention the principle used in the device denoted by this diagram.

-o do-

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Button7: 
	Button8: 


